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2017
ECONOMICS - 11 — HONOURS
Sixth Paper
[A-32A]

(Module - 1)
Full Marks - 50

The figures in the margin indicate full marks

Candidates are required fo give their answers in their own words as far as practicable

Group — A

I Answer the following questions - 2x4
(a8)  What is the difference between the concepts of stock and flow variables

in macroeconomics ?
Or

Distinguish between gross investment and net investment.

(b)  What is GDP deflator ?
Or

Distinguish between nominal GDP and real GDP.

()  What is meant by GNP ?
(d) Define National Income.

Group - B

2. Answer the following questions :
Consider a linear type of Keynesian consumption function.

(a)

Define APC and MPC. Show the impact of an increase MPC on the consumption
function with the help of a diagram. 2+4
Or

For a closed economy with a Keynesian short-run consumption
function and an autonomous investment expenditure, represent the equilibrium
graphically. How can you express the same equilibrium by saving-Investment

3+3

equality ?
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(b Considering n simple Keynesian model with investment as an
autonomous expenditure, show how an increase in investment produces a

magnified impact on equilibrium income.
or
Suppose the savings function is § = 0,2y-500 and the investment

function is | = 0.1y+500.
Find the consumption function and the equilibrium level of
income. Now assume that the savings function changes 1o § = 0.3y-500, What

will be the new equilibrium level of income Is there any implication of this
1
(13+15)+2+]

result 7 Explain.
Discuss with the help of the 15-LM model the equilibrium

(c)
income and the rate of interest. 6

(d) “The effectiveness of a monetary policy in raising output will be
limited if investment expenditure is relatively interest-inclastic and it would be
more effective if money demand is relatively interest-inclastic™. Do you agree 7
Explain vour answer. 143

Or
Explain the curve each point of which is a commodity market

equilibrium. What will be the shape of the curve when investment is perfectly
(i) interest-elastic, and (ii) interest — inelastic. 2+4

(¢) Explain the causes of a demand-pull inflation. 6

Or
Critically discuss the Keynesian theory of demand for money. 6
Group-C
3. Answer the following questions :
What is meant by money supply and on what factors does it depend ?
Distinguish between narrow money and broad money. 8+4
Or
Explain briefly the uses of monetary and fiscal policies to control
12

inflation.
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2017
RETAIL MANAGEMENT AND MA RKETING OF SERVICES

Seventh Paper
(M-33-A)
(Marketing Group)
Full Marks — 100
The figures in the margin indicate full marks

e ; 3 a ¥
Candidates are required to give their answers in their own words as far as practicable

Module =1

(Retail Management)

Marks - 50
Group - A
1. Answer the following questions : 2x5
(a) What is Retail Management ?
Or
What is a Supermarket ?
(b) What is promotional mix in Retailing ?
Or
What is consumers co-operative 7
(¢) Mention two names of Corporate Retail Organization.
Or
Define a Service Research Programme.
(d) What is retail experience ?
(¢) Define the term ‘quick response’.
Group - B
S5x4

2. Answer the following questions :
(a) Discuss the factors affecting pricing of products.

Or
What are the functions of Retailing in India ?
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(b)  Explain the impact of shopping malls on small shops and hawkers.
r
Explain the approaches to product pricing,
(¢)  Differentiate between goods and services.

(d) Differentiate between social responsibility and consumerism,

Answer the following questions : 10%9
(@)  Explain the factors affecting Retail pricing,
Or

Discuss the impact of technology on relationships in retailing,

lad

(b)  Write explanatory notes on ‘Direct Selling’ and ‘Automatic Vending’.

Module - 11
(Marketing of Services)
Marks - 50
Group - A
4. Answer the following questions 2x5
(a) What do you mean by marketing of services ?
Or
What is the meaning of service product ?
(b) How would you maintain service quality ?
Or
What is healthcare service ?
(c) How would you explain media services 7
(d)  Write the dimensions of service marketing mix.
(e) Mention two characteristics of services.
Or .
[dentify two problems in marketing of services.
Group-B
5x4

5. Answer the.following questions ;
(@) Why service economy is now considered the golden key to India’s

development 7

Or
“Tourism is not luxury but essential for people’. — Explain.
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2017

INDIAN FINANCIAL SYSTEM AND FINANCIAL MARKET
OPERATION — HONOU ‘RS

Seventh Paper
(A=-33-4)
(Accounting and Finance)

Full Marks - 100

The figures in the margin indicate full mearks

Candidates are required to give their answers in their own words as far as pracricable

Group - A

l What is financial system? Statc the components of a financial sysiem 243
: 2. How are the development banks different from the commercial banks? 5
g 3. Discuss the functions of EXIM bank. 5
Or
Discuss the role of IDBI in the industrial development of India since its
inception 3
4.  Distinguish between money market and capital market. 5
Or
Write a short note on foreign exchange marker 5
5.  What is call money? How does the call money market operate? 243
fr
Give an overview of the participants in the Indian call money market 5
6. Write short notes on Repo and Reverse Repo 5
Group - B
7. fa) What is mutual fund?
(b)  Distinguish between open-ended and closed-ended mutual funds.
(¢} State the objectives of UTL 2+5+3
Or
Discuss the functions and powers of Insurance Regulatory and Development
Authority (IRDA) of India. 545
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8. f(a) Distinguish between :
(1) gross and net rate of interest
(1) administered rate and market rale of interest. =
(6) Discuss in brief the recent changes of interest rate structure in India. ™ +_:‘_1

9. f(a) What is meamt by investors’ protection?

(b) Discuss the role of SEBI in investors’ protection. 3+
Or
Discuss in detail the role of Grievance Redressal Cell of Stock Exchanges in
10

India.

10. (a) What is credit rating? Name two credit rating agencies in India.

(b) Discuss the functions of credit rating agencies in India. (2+2)+6

Group = C

1. (a) What is ‘high powered money'?
(6) Explain the sigmficance of high powered money.

(c) Write a short note on ‘money multiplier’. I+6+0

Or
fa) Give a bnef outhine of the structure of commercial banks in India.
(5}  Whart are the major functions of commercial banks?

Disunguish between Cash Reserve Ratio (CRR) and Statutory Liquidity

[c)
- Reserve Ratio (SLRR)
s (d) How CRR and SLRR are used by RBI to control the money supply of
3+6+6

commercial banks?
12. (a) How do you distinguish between primary and secondary market?
{b) Discuss the functions of the new issue market.

(c) Write short notes on private placement and bought out deal. 44645

Or

(a) Discuss the role of brokers and sub-brokers in the stock exchange in

India.
(b) Give an overview of two leading stock exchanges in India. 8+7
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INDIRECT TAX ¢ LAW AND PRACTICES HONOURS
seventh Paper
(1 -33A)

Full Marks - 100

Lhe figures in the margin indicate full marks

Candidates are required to give their answers in their own

wordy as far ax practicable

Group - A

I, Write a note on bases of charging Indirect Taxes in India 5
Or
Define and distinguish between Direet Tax and Indirect Tax. 3
2. State the basic conditions for charging excise duty under Central Excise
Act 1944 5
3. Write a short note on ‘Anti-dumping duty’ under the Customs Tariil
Act, 1975, 5

Or
(@)  Define ‘goods' under the Customs Act, 1962,
(b)  Explain briefly

"Bill of export” with reference to the provisions ol
the Customs Act, 1962,

244v2%

4. For the purpose of excise law ‘Goods' and

‘Excisable Goods' are not
equivalent terms, Do you agree 7

Or
Distinguish between ‘Non-excisable Goods® and *Zero-rated goods' for

the purpose of excise law,

5. (a) An excisable product is manufactured in Asansol lactory on

11.08.2015 when the rate of excise duty is 12% and the product is removed from
factory on 02.09.2015 when the excise rate is 10% Central excise officer wants
to levy excise duty @ 12% which is opposed by the assessee, State your opinion,
(b) State whether the followings are manufscture under the Central
excise Act, 1944 -
(1) Turmeric into turmeric powder.
(i)  Aflixing of label on ready to use product,

6. (a) M/S. Black is a service provider. The value of taxable services
provided by him during different F.Y. were as follows : - FY, 12-13
Rs. 26,00,000; F.Y. 13-14 Rs. 15,00,000; F.Y. 14-15 Rs. 10,00,000, the actual
value of taxable services provided by him during quarter ending 30.06.2015 was
Rs. 9,00,000, Is he liable to pay service tax ?

(b) Write a note on *Reverse charge’ under service 1ax.

243
Or
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(1) State the benefits available to a dealer for registralion as per the
Central Sales Tax Act, 1956 : .

(b) When is a dealer required to gel himself QUIIH‘.IL:IHHTTIh}'.ruglﬁtﬂ:rfd
as per the CST Act ? In which form and within which date the dealer is required

: - : _ 2
1o apply for such registration 7 &3

Group — B

7. (a) Mr. King is an unregistered dealer in West Bengal. He made the
following sales during the month of December 2015
On 05.11.2015 sale of schedule AA goods Rs. 80,000
On 09.11.2015 sale of schedule C goods Rs. 4,00,000
On 11.11.2015 sale of schedule 13 goods Rs. 3,00,000
On 13.11.2015 sale of schedule C goods Rs. 4,00,000
(under MEP)
On 20.11.2015 sale of schedule CA goods Rs, 3,50,000
Is Mr. King eligible to continue the business in the situation ? If no,
then what formalities are required to be fulfilled 10 continue the business 7
(b) Briefly explain whether the purchases are cligible for availing
input tax credit in each of the following cases under WBVAT, 2003 :
(1) X & Co. purchased goods from P & Co. which is an
unregistered dealer.
(ii) Z & Co. purchased some capital goods. The final product
manufactured by Z & Co. using these capital goods is exported.
(in) Y & Co. purchased goods in West Bengal that are stock
transferred 1o Bihar,
(c) Whatis ‘zero-rated’ sales under the WBVAT Act ?

8. Mr. Raju is a registered dealer under WBVAT Act. The particulars of
his purchases and sales for the month of Dec, 2016 were as under :-

b1

(inclusive of VAT)
Sale of Schedule C Goods 10,00,000
Sales Return of Schedule C Goods within 6 months 1,60,000
Purchase of above goods 6,40,000
Sale of schedule CA goods 30,00,000
Purchase of above goods 20,00,000
Sale of schedule A goods 600,000
Purchase of above goods 5,78,000

Compute Output Tax, Input Tax and VAT payable by him. (Rate of
VAT for schedule C = 5%, schedule CA = 14.5% and schedule A = exempted).

Or

(a) Discuss the provisions in brief regarding registration of dealer
under the WBVAT Act.

(b) State the incidence and levy of tax under WBVAT Act.

9. M/S. LML L. imported certain goods by air from USA. Total FOB
value of the g'[.mdS .US S 45,000. Accessories compulsorily supplied with goods
US § 5,000. Air freight incurred US § | 1,000. Insurance paid US $ 500.

Design and development charges of § 2000 :
firm in USA. g were paid to a consultancy

10

545
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Local agency commissio
airport to factory Rs. 20,000,
Date of Bill of Entry - 03.01.2016 lon the
Rs. 66/3 and Basic Customs duty 15%.)
Date of entry Inwards : 18,12 2015 [on the date ¢
Rs. 65/ % and Basic Customs duty 12%.)

ACD U/S 3(1) is 8% and ACD U/S 3(5) is 4% on both the dates

Compute the assessable vitlue and duty liability of M/s. LML Ltd 10

Or

(2)  As per section 15 of the Customs Act, 196
date for determining the rate of duty and tarify valuation

(b) Siate briefly the Provisions under (he
to duty drawback on re-export of goods,

(¢)  Write a short note on ‘countervailing duty on subsidised goods'. 3+4+3

n Rs. 25000, Transport cost from Indian
date exchange rale notified by CBEC

xchange rate notified by CBEC

2, briefly discuss the
of imported goods,
Customs Act, 1962 relating

10, (a) Mr. Bose, an In

goods while retuming to India.

(1) His personal effects valued at Rs. 22 000

(1) A new camera for Rs, 42 500

(iii) A laptop computer for Rs, 55.000:

(iv)  Jewellery worth Rs. 40,000,

Compute the amount of customs duty payable,

(A) il he retum on 3rd day air;

(B) ifhe returns on 111h day by air.

(b) Explain the significance of ‘Territorial waters of India’ and

‘Indian customs waters' under the Customs Acl, 1962, +5

dian resident visiting Nepal brought following

11. (a) Rs. 14,78.000 is charged for a taxable service rendered in India on
31.12.2015. Calculate service tax payable when : -
(1) Rs. 14,78,000 1s before charging service tax:
(i1)  Rs. 14,78,000 is including service tax;
(i) The service provider has failed 1o charge service tax
(b) A small service provider is not entitled to CENVAT credit so long
he/she is a small service provider. Explain. :
(c) Is there any service tax payable in India 7 Ifycs,_hy whom ?
(i) Mr. X of ] & K provides taxable services to Mr. Y of
Roke (1) Mrs. U of Canada provides taxable services to Mrs. Z of

India, e

Or :
(a) Determine the point of Taxation of service provided in each of the

following independent cases :~

letion Date of Date on whi_:h
C Dﬂffnl:_fsili;l:r'l}l:: ' Invoice payment received
S 10.06.2015 06.07.2015 22.06.2015
0 11062015 07.07.2015 22.07.2015
it 06.2015 10072015 22.06.2015
il ik (Part) and
20,07.2015
(Remaining)
: 10.06.2015 20.07.2015 22.07.2015
i B [ Turn Over ]




(v) 10,06,2015 2007.2005 220520017
{wi) 10.06,2015 12.06.2015 1060, 2005

(bl (i) Stete the due date For subimission of kervice s reirm
(1) “e-filing s mandatory bul e-payment 18 not mandatory™. Do
you agree G {2

12. () From the following information compute tax lability  under
Central Sales Tax Act

§
Purmover for the year ending 31.3,2016 B.67,000 (Inclugive of CST)
Cioods Returned by customers

within & month 10,000 (Exclusive of CS1)
Goods Returned by customers

afler & months 40,800 (Inclusive of CST)
Goods Rejected by customers

beyond 8 months 51,000 (= Do =)
Rate of CST is 2% -

(b} From the following details caleulate the turmover and CS)
payable by Rabin carrying on business in Kolkata,

Gross Turnover 6,50,228
I'he turnover includes the following
(1)  Trade Discount for which Credit noie

issued separately 11,000
(i) Excise Duty 40,000
(iii) Freight and Insurance separately charged 9,000
(iv) Installation charges separately charged 12,000

(v) One dealer has returned goods within four month 17,160
(vi) CST rate (@ 2% against C form.

13. An excisable goods worth ¥ 5,601,800 (excluding excise duty) is
manufactured. Rate of duly on the date of manufacture 1s 10% but the same on
the date of removal is 12 %. Cess applicable 3%

{a) Calculate the duty hability of the manufacturer :-
(i) When the item is covered under Maximum Retail Price
basis of valuation
(m)  When the item 1s covered under transaction Value basis of

valuation
(b)  Would your answer in (i) and (ii) differ if T 5,61.800 is inclusive
of excise duty and applicable cess 7 7434743

Or

(a) For calculation of excise duty, rate of duty on the date of
manufacture is not relevant. Do you agree ?

(b) Discuss briefly whether excise duty is attracted on the cxcisable
goods manufactured in :

(i)  Jammu and Kashmir
(1)  Special Economic Zone.
{(c) Can assembly of components be taken as man
Central Excise Act, 1944 7

(d) Distinguish between ‘Time of Removal® and *Place of Removal',
3+2+3+2

ufacture under the
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2017
PRODUCT & PRICING MANAGEMENT AND MARKETING
COMMUNICATION - HONOURS
Sixth Paper
(M - 32A)
(Marketing Group)

Full Marks — 100

The fivures in the margin indicate full marks

Candidares are reguired to grve thetr answers i their own words as far as practicable
{ E

Module - |
(Product and Pricing Management)
Group - A
I Answer the following questions t)

() What is 'Product Portfolio!
(i
What do you mean by a 'New Product™
(by  Define the term “Test Marketing
(¢) Mention the vanous levels of packaging
id) Debine 'Branding
()r
What do you mean by '‘Brand Equity ™’
(e} State any two features of a good brand
Or
Give any two examples of "Family Brand'.
Group - B

| it Sx5
3. Answer the following (uestions.

(a) Elucidate the ‘New-product Development Decision Process .

| Turn Overl
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(b) Discuss the various stages in the "Adoption Process'.
(c) Enumerate the concept of "Product Differentiation’.
Or
Discuss the various ways of ‘New-product ldea Generation'.

(d) Distinguish between 'Leader Positioning® and ‘Follower
Positioning'.

Or |
Point out the reasons for branding. |
(e) Narmate the importance of packaging in marketing of a product.
Or
Discuss the various legal aspects of packaging.
Group - C

3. Answer the following questions:

(a) Explain, with the help of a diagram, the concept of Product Life

Cycle (PLC). 10
ag|
(b) Highlight the exceptions to PLC curve with suitable diagram. 5 &
Or
(a) Explain the significance of pricing in consumer decision making ad|
process. S
(b) Describe, in detail, the different pricing strategies generally used
in marketing. 10
Module - 11
(Marketing Communication)
Group - A | -
4. Answer the following questions: 2x5
{2) Define 'Adverusement’, |
| ady

or |

Mention any two appeals used in advertising.

(b) What do you mean by 'Advertisement Copy'? |

{c) Define "Promotional Mix'. |

(d) Mention any two features of "Headline'.
Or

Why is "Animation’ used in advertising?




3

e ot : :
(€)  Mention any two common features of 'Online Advertising' '

Or

Point out any two types of Print Advertisements.
Group - B

5. Answer the following questions: Sx5
b4

(@) Elucidate the main principles of effective communication,
Or
State the basic objectives of ‘Marketing Communication'.
(b) Discuss the objectives of 'Sales Promotion'.
Or
State the merits of 'Sales Promotion'.

(c) Classify the various types of 'Sales Promotional Techniques'.
(d) Elaborate the limitations of 'Sales Promotion'.

(e) Explain the advantages of services rendered by an advertising
agency.
Or
Discuss the factors generally considered while selecting an
advertising agency.

Group - C

6. Answer the following questions:

(a) Discuss the importance of advertising in marketing. 5
(b) Enumerate the major decisions involved in developing and 7
managing an advertising programme.
Or
5

(a) Classify various advertising objectives.
1 deciding on
(b) Enunciate the factors that are considered for g X

advertising budget.
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ADVANCED BUSINESS MATHEMATICS — HONOURS
Sixth Paper
(A=-32-A)
Full Marks — 50

The figures in the margin indicate full marks

Candidates are required to give their answers in their own words as far as practicable

Group - A

1. Answer the following questions :

X
x2-9°

Or
If f(x]:'.\i— [.x] , where [r:] is the greatest integer not excluding

x, then find the value of f(2.5) and f(-2.5).
(b) If f(:r)=(x—a], g(x)=(x+a), then show that {f(:}}z —{g{x]}:=

- 2a{f(x)+ g(x)}.
-8

¢) Find lim :
(Ot 2 x=2

(a) Find the domain of f(x)=

Or
Find % when y = Ing{l+-..|'r;).

2 =1 -1 B\ ue
(d) ifA:[l i ] Bﬁ[ﬂ 2] - Find 24+3B..
(¢) Giventhat P(4)=2, P(B)=%, P(4UB)=2, find P(4/B).
Or
For two events A and B, Let P(4)=0.4, P(4UB)=0.7 and

P(B)= p . For what value of p are 4 and B independent ?

Group - B

2. Answer the following questions : 6%5
(a) Solve by Cramer’s rule :

SR 2‘1»—5+3=t},l+£+i=3.

—d—p—=] e
x y =z X y =z XLy oy
Or
[Turn Over]
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l+a® = 2ah Z2h
Show that 2ab 1-a +b? 2a : {I ra 4 J':"T :
2h -2a l=a=b?
3 4 .
(b) If A- 4 § =2|, show that A% =114+10/=0. Where J
2 =2 2

and 0 are identity matrix and null matrix of order 3 respectively.
Or

: . 2 :
For the two matrices 4 and B, where .-t=|: : 1] and
3 =2}

I 1 . I
B=|0 2 |, showthat (AB) = B' A", where A' is the transpose of A elc,
|

= J
(c) Evaluate the following :
s | e < ?45x-
(i) ]m—‘,-if— M 1) ] Iimw.
r—veo dx” 4 Jx= ~2 -l x* =3x 42

(d) If y=7]—'r=1-,pmvc that r]%=}-3_
X

(e) Divide 16 into two parts such that their product is Maximum.
Or

e : e
Show that the minimum value of the function x’ +— is greater
-

than its maximum value,
Group - C

3. Answer the following questions :

(a) Four men in a company of 10 employees are engineers. If 2 men
are selected at random, then find the probability that exactly one of them will be

engineer, 6
Or
A problem of Mathematics is given to three students A, B and C
whose chances of solving it are 3, 3, 4 respectively. What is the chance that the
problem will be solved ? 6
(b) Evaluate (any one) :
- 2x
i ——dx
O -[ 2+x-x°
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2017
DIRECT TAX LAW AND PRACTICE — HONOURS
Sixth Paper
(T - 32A)
Full Marks — 100
The figures in the margin indicate full marks
Candidates are required to give their answers in their L;n-n words as far as practicable
Group — A
I.  How would you determine the residential status of a company? Mention
any two mcomes which can be considered as deemed to accrue or arise in India 3+2

Or

X Lid., an Indian company, has five members on its Board of Direciors
who are all non-resident in India. All the shareholders are foreign nationals and
non-resident in India. The business of the company is wholly controlled from
Germany. Find oul the residential status of X Lid.

Discuss the taxability of the income at the hands of X Lid. for the
assessment year 2016-2017. 3+2 |

2. Who is eligible to enjoy exemption U/s 10AA and what is the quantum

A

of such exemption? 243
Or
From the following information, compute allowable deduction u/s 10AA '
for the AY. 2016-17 : 4+]
(i) Date of commencement of business in SEZ. =~ — 14.13
(ii) Export Sales —  Rs. 18,00,000
(i) Local Sales —  Rs. 6,00,000
(iv) Out of export sales, amount brought into
India within specified time —  Rs. 13,30,000
(v) Freight incurred in relation to export sales
and included in (iv) — . Rs0c1,30,000
(vi) Profit of the business (computed) — Rs §,50,000

What will happen if the date of commencement of business was 1.4.097

3. What do you mean by revocable transfer? 5

4. State the deduction available under chapter VI-A of the Income-tax Act
in respect of the profits and gains of an undertaking or enterprise engaged n
development of Special Economic Zone. Briefly mention the conditions for

claiming such deduction. 243

[Turn Over]




Group-B

5 X Lid. is engaged In the business of pl.j.-'iil_g ;_:qudh uurr::lgil:ﬁ. On st
April, 2015, the company OWns 10 trucks (6 oul Qi ."L'"h'_‘:h. are “heavy goods
vehicles'™). On May 2. 2015 one of the heavy goods w-']_’_“- les is sold by x_ Ltd. and
purchased a light goods vehicle on May 6, 2015 which is put to use ”'ljl'i'f from June
15. 2015. Find out the total income of X Lid. for the assessment year 2016-17 after
taking into consideration the following data gathered from its books :

Rs.
Freight collected 8,950,000
Less : Operational expenses (6.40,000)
Depreciation as per Section 32 (1,90,000)
Other office expenses (15.000)
Net profit 45,0000
Other non-business income 70,000

(r

(a)  AK. Ltd., engaged in the manufacturing of electrical equipment,
purchased a machinery costing Rs. 5,00.000 on 25.9.2015 and put it 1o use after
three weeks. There are no other assets in the block. What is the written down value
of the block as on 31.3.2016? If the normal rate of depreciation is 15% and the
assets are eligible for additional depreciation, compute allowable depreciation
w's 32.

(b) K furnishes the following particulars relating 1o the payments made
for scientific rescarch for the year 2015-16.
(i) Payment made to BBC Lid. registered in India for scientific
research & development Rs. 40 lakh
(i) Payment made to University of Calcutta for scientific
research Rs. 30 lakh
(i) Payment made to IS1, Kolkata for statistical rescarch Rs. 20
lakh
(iv) Payment (o National Laboratory Rs. 16 lakh
Compute the amount of deduction u/s 35,

6. X, an owner of 3 houses, sells a residential house property in Chennai
for Rs. 12, 30,000 on 24th May, 2015. This house was purchased by him on Ist
April, 2006 for Rs. 2,91,000. On 30th May, 2016 he purchased one flat in Kolkata
for Rs. 8,65,000 for residential purpose. On 1st March, 2016 X sells the house n
Delhi for Rs. 12,10,000 which he purchased on 1.5.79 for Rs. 75,000 (FMV on
1.4.81] LEs.. 1,00,000). Compute the capital gains arising on the two transactions. Is
X eligible for exemption under Section 54 in respect of the second sale? What will
happen if X purchased bonds of NHAI for Rs. 1,50,000 in respect of Delhi House?

[Cost Inflation Index for the financial years 1981-82. 2006-2007 and 2015-2016
are 100, 519 and 1081 respectively].

Or

" (a)  Mr. A purchased a land for Rs. 3,00,000 during 1995-96 and
ncurred development expenses of Rs. 50,000 during 2001-02. The Central

ﬁ;’&f%‘{f% gct?t;.gcd such land compulsorily and paid compensation of Rs.

Compute capital gain in the hand of A for the AY. 2006-17.
[CII for 95-96 : 281, 2001-02 : 426, 2015-16 : 1081]

10

10

ey, T
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(b) Mrs. R purchased 1.000 shares of Q Lid. on 2.4.15 @Rs ) per
share. She received 200 bonus shares 6.5.15. Op 12.03.16 she sold all the _.-,-!-|;.1rrjt~-~
tor Rs. 32 per share :

il

Compute capital gain in the hands of Mrs. R for the A.Y. 2016-]7.

5
7. (a) State the different cases of deemed dividend w's 2(22) 3
(b) A received the following gifts dunnE the financial year 2015-16
0 (1) Cash gift from father-in-law Rs. 25,000
(11) - Gifts from friends at the time of marrtage Rs. 40,000
()  Shares received from a friend (market value) Rs. 51.000.
State the taxability of these gifts at the hands of A 3
, 8. (3)  Abbas Ali, a noted vocaliss furnished the following information
for the P.Y_ 2015-16
Rs.
Income from profession in India 5,80.,000
Income from profession in USA 2,50,000
(with which India has DTA agreement)
Tax paid in USA @20%
. Compute relief u/s 90 for the A Y 2016-17 assuming full credit has
been given in respect of income of USA in India 5
(b) + an Indian resident has earned substantial amount of income
from an African couniry with which India has no agreement for avoidance of
double taxation. Discuss whether R can claim any relief for tax paid in that African
country. How such relief can be calculated? 5
Or
(@) What is amalgamation w's 2(1B) of the Income-tax Act? When
will merger not be treated as amalgamation? 5
(b) Define slump sale ws2(42C) of the Ir:uum{:vl:t_x Act. How would
you determine capital gains in case of slump sale under section S0B of the Act? 5
9. M (32 yrs), N (34 yrs) are members of an AOP. Following is the Profit
and Loss Afc for &c year ended 31,316 : 10
R Rs.
Cost of goods sold 300,000  Sales 5,00,000
Other Expenses 50,000 LTCG on Sale of land 1.00,000
Interest on Capital Interest on drawing
M 10,000 M 3,000
N 5000 N 2,000
Salary to partner
M 24,000
N 16,000
Donation to PM’s 20,000
National Relief fund
Net Profit 1.77.000 S e
6,05,000 —_605.000

Other information : | 1
(i)  Out of other expenses, Rs. 20,000 is not allowable w's 37,

{(11) The Profit Sharing ratio of M & N 15 3:2. Other incomes of the
members are as follows : !
M —Rs. 2,32,000 N-Rs. 2,035,000
Compute tax liability of AOP for the A.Y. 2016-17

I sees Msamel
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India (1) T is an Indian national and resident and ordinarily resident in

(n) T 5 an Indian national i side ] .
R nonal and resident ol not ordinarily
(i) T is a foreign national und not resident in India
(@)  Jewellery in India Re, 60,00.000
(b)  Residential house outside India Ks_ 40,040,000

RS, 2.60.000 (c) Capital bormowed  for purchasing house owside Tndia

Rs. 9.50.000 (d) Capital  bomowed  for acquiring  jewellery in  India

: (b) D is the owner of a house in Kolkata, the annual value of which as
per municipal record is Rs. 1.00,000. Rent received from the tenants for the house
15 Bs. 90000 -"Ir'll.ll'.I:L':]‘.hll s pilitl {1} Mr. D Rs. 5.000 and by the 1enant Bs. 2.600
Repairs borne by the tenanis Rs. 8.000. Determine the “nef mmintainable rent” of
the house for the purpose of valuation under Wealth Tax Acl

1. From the following information, compute taxable income and tax
payable by Mrs D (Age 62 years) for the AY. 2016 - 17

fa}  Income from Salary 3, 1000
(b)  Loss from House Property (60,000)
(c)  Income from business 230,000
{d) Long term Capital gain on sale of land 1,50, 0040
(e}  Short term Capital gain on sale of shares 30,000
(1)  Dividend from Indian Company 20,000
(g) Dividend from Foreign Company 30,000
thy  Income from lottery (net) (TDS made @ 30.9%) 6o, 100
(i) *ayment of Life Insurance premium on own life 10,000
(i)  Contribution 1o PPF 40,000
(k) Donation to Ramkrishna Mission 20,000
()  Payment of health insurance premium on the health

of herself and spouse 10,000

Or

{a) D and C, a partnership firm consisting of two partners, reports a
net profit of Rs. 14,00,000 afier considering following items

(1) Salary of Rs, 40,000 each per month payable to two working
partners of the firm (as authorized by the deed of partnership)

(1) Depreciation on plant and machinery Rs, 3,00,000.
(i) Interest on capital at 15% per annum. The amount of capital
eligible for imterest Rs, 10,000,000
Other information :
Depreciation as per I'T rules Rs. 4,00,000
Compule
(1) Book-profit of the firm under Income Tax Act, 1961
(ii)  Allowable remuncration 1o partners {or the assessment year
2016 -17 as per Section 40(b) of the Income Tax Act, 1961,
{h)  Discuss the effect of partition of a Hindu undivided family on the
assessment of the joint family as well as on the members of the family.

10
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2017
PUBLIC FINANCE AND TAXATION
Filth Paper
(T-31-A)
Full Marks — 1M

The figures in the margin indicate full marks

Candidates ure required to give their answers in their own words as far as practicable

Group - A
I. What do you mean by ‘Public Finance’? Why is it considered an
important branch of Economics? 243
Or
Explain the ‘Principle of Maximum Social Advantage’, as laid down by
<
Dalion
2. Define (1) Revenue deficit, (ii) Fiscal deficit and (i) Primary deficit, as
used in the Indian context 241+
(r
Give o brief accoumt of the steps taken by the Government of India o
conirol fiscal deficit in the post — 1991 period 5
3. Examine the changing patterns of direct and indirect tax collection in the
post — 1991 period 3
Group - B
4. How would you distinguish between the impact and the incidence of
raxation? How is the burden of an indirect tax shified on the consumer? 446
5. Explain how the Govemment can usc its fiscal policy to stabilize the i)
economy during (i) an infationary situation and (11) a period of recession +
{ir
SR En : appregate production and
Analyse the effects of public expenditure on aggregaic p 545
distribution of income.
’ i jslinEul een the
& What is meant by ‘burden of public debt? Distinguish between o
' ' Id public debt.
burden of an internally held and of an externally held p
i ons the I4th Finance
7. Give an account of the major recommendations of 0
\ommission of India
Com Or
10

What are the functions of the Finance Commission of India?
d
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Ceruulpp — (3]
Answer the following question 2% 1
i detail, the influence of ¢ wliure n
I

splture. Explain the charpcteristics of

{n) Baplain, Consumer Behavour

(b)Y Deline o cullure.
mMaodule = 11
{ Snles Management )

Group - A

Answer the following quesiions
{a) Define sales organisation
i

Define sales force

{b) Distinguish between marketing and sclhing

i

Distinguish between direcl and indirect channel.

(¢) What 15 meant by placement of sales force T

() What is marketing channel 7

{¢) Whitt is channel objective 1
ir
What ts marketing channel "
Group = b
Answer the following gueslions

(a) What do you mcan by gl.'ny,r.:pluc sales Org
Or

two factors determining
determinanis of gales force S1ZE

anisational stracturc 7

Mention sales organisauon struciure.
(b) Discuss any 1wo key

(¢) Write shorl notc on gricvance handling
Or
7

valuate sales force performance =

How would you €
of personal selling

on the imporiant aspects
Group - C

r the following questions :
process of sales personnel.

{d) Menti

Answe
(a) Briefly describe selection
two functions of * marke
Or
Bricfy describe the need of ma
Group - D

Answer the following question :
(a) State the tasks of "Chief Sales Executive”.
Or

(b) State any ting channels”.

rketing channels.

¢ of sales organisation.

(b) Discuss the general principl
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FINANCIAL MANAGEMENT — HONOURS
Eighth Paper
(A-34A)
( ,-’nc-:ﬂu;lting and Finance Group )

Full Marks — 100

The figures in the margin indicare full maris

Candidates are required to give their answers in their own words as far as practicable

Group—-A

L%

I. Discuss the nature and objectives of financial management.

2. Why value maximisation objective is called better than profit

maximisation objective ? 5
Or

What will be the role of CFO in the financial crisis of an organisation ? 5

3. X borrows ¥ 59.36,000 from Y at a compound interest rate of
12% p.a. It is agreed that the loan shall be payable in two equal instalments,
which shall be payable at the end of the Ist year and 2nd year respectively.
Calculate the amount of instalments.

L

4. Mr. H is offered either to receive 10,000 three years from now-or | |
¥ 14,000 five years from now. Which are Mr. H-will accept 7 Assume rate of |

discount is 10%. =
[ Given : Present value of ¥ | at 10% are 0.751 and 0.621 for 3rd and

5th year respectively]
Or

Write in brief about the financial environment of the h_qsiness.. 5

5. A project of ¥ 3,00,000 is supposed to yield ¥ 40,000 after depreciation
@ 12.5% and is subject to income tax @ 40%. Calculate the pay back period of

the project.
or
Write the demerits of Pay Back Period method of project evaluation. 5

[Turn Over]




2

S8 Fehed ot following information, which Project will yoy sel t and
ect an

why.
_Project | :W
Year Earning AN W\ et
after Tax | D¢Preciation ( Depreciation| Eaming .s
i after Tax after Tax Depreciation
; 20,000 3000 50,000 5000 35,000 4000
30.000 | 2000" | 40,000 |~ 500 000 |
£ s 35,000 4000
3 | 40,000 2500 30,000 4000 35,000 tigﬂﬂ

Assuming tax rate of 50% and discount rate as 10%.

[Given : PV of X | a1 109 discount Y, = 0,909 » Y2=0.826 and
Y;=0.751]

Group - B

7. Estimate the working capital requirement on profit basis for the
coming year from the following information of a manufacturing company.
Expected annual sales is 156000 units of ¥ 10 per unit. The anticipated ratios of
cost to selling price are : Raw material 50% and Direct wages 15%. Budgeted
cash overhead is ¥ 42,000 and depreciation is ¥ 10,000 per annum. Planned
stock will include raw material for ¥ 45,000 and 9,000 units of finished goods.
Credit allowed to debtor is I month. Credit expected to be received from
suppliers in 3 weeks. Overhead and wages payment will be made 1 week after
their occurrence. Material will stay in the process for 14 days. Cash in hand to
be maintained is 15% of total working capital. Assume that production is carried
on evenly throughout the year. Raw materials are introduced at the beginning of
the process and wages and overhead accrue evenly during processing.

Or
(a) Between two periods of a company there is an increase of debt
collection period and. raw material conversion period by 20 days and § days
respectively, whereas its creditors payment period and finished goods
conversion period is reduced by 10 days and 5 days respectively. Calculate the

change in operating cycle of the company.

(b) Length of Operating Cycle is the major determinant of the working
capital needs of a business firm. — Explain.

8. (a) How the trade-off between Matching and Conservative Policy of
financing the working capital is done ?. Explain.

(b) Explain the three principal motives for holding cash.

10




9. A company is considering two mutually o
Following details are made available 1o vou :

xXclusive projects X and Y

(7 in lakh)
Project X Project Y
Project cost 3500 3500
Cash Inflows : Year | 500 2500
Year 2 1000 2000
Year 3 1500 1000
Year 4 2250 500
Year § 3000 500

Assume no residual values at the end of the fiflh year. The firm's cost
of capital is 10%,

You are required to calculate the following in respect of the two
projects —

(a) Net Present Value, using 10% discounting ;

(b) Internal Rate of Retum :

(¢) Profitability Index.

Present value of T | at 10% discount rate for y: — .909, y; - .826,
¥ —.751, ys— 683, ys - .621. 3+4+3
Or
What is capital rationing 7 How is it applied in case of divisible and
indivisible projects ? 446

10. The following details of P Lid. for the year ended 31.3.2016 are

furnished :
Opecrating leverage 3 : |
Financial leverage 2: |
Interest charges per annum ¥ 20 lakhs
Corporate tax rate 50%
Variable cost as the percentage sales 60%
Prepare the income statement of the company. 10
{r
Critically examine the Net Income (NI) Approach of Capital Structure
theory. 10

1. (a) Z Lid. issued 10,000 12% prelerence shares of ¥ 100 each at a
premium of 10%. The floatation cost was 5% on issue price. The preference
shares will be redecmed at a premium of 20% after five years. The tax rate
applicable to the company is 30%. The corporate dividend tax is 10%. Compute
cost of preference shares of Z Lid. 4

[Tum Over]




(b) T Ltd. has the following capital structure :

2 (in laksh)
Equity Share Capital (10 lakh shares) 100
Retained Earnings 130
14% Debentures (70,000 debentures) 70
16 % Term Loan 100
| 400 ' |

The market price per equity share is ¥ 25, The next expected
dividend per share is ¥ 2 and is expected to grow at 8%. The debentures are
redeemable after six years at per and the current market quotation is ¥ 90 per
debenture. The tax rate applicable to the firm is 50%.

Your are required to compute weighted average cost of capital of
the company using market value as weights. 6

12. XYZ Ltd. has a capital of ¥ 10,00,000 in equity shares of ¥ 100 each.
The shares are currently quoted at per, The company proposes lo declare a
dividend of ¥ 10 per share at the end of the current financial year. The
capitalization rate for the risk class to which the company belongs is 12%. What
will be the market price of the share at the end of the year, if —

—eee = (@)-Ividend. is nutdcclarcd--z...,i... —
(b) Dividend is declared ?

(¢) Assuming that the cmnp_an}rjpays the dividend and has net profits !
0f ¥ 5,00,000 and makes new investments of ¥ 10,00,000 during the period, how |
“many new shares must be issued ? Use the M—-M-model. 3+3+4
- Or
(a) What are the factors to be considered for paying cash dividend ?

‘(b) Give a brief note on Gorden’s Dividend Policy. S5

13. Explain bﬁEﬁy on Return on i_n:'uslmem and zero based Budgeting as a
tool of financial control. wﬂk\ . 3+5

- "
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2017
FINANCIAL ACCOUNTING
Fifth Paper
(A=31-A)
(Accounting and Finance Group)
Full Marks - 100

111 — HONOURS

The fieures in the margin indicate full marks

Canpedicleafes e requiired fo give 1

Group = A

1. From the trend % supplicd below, prepare o comparative stalement ol
current assets in absolute value taking 2013 as the base yem
Trend Percentage Corresponding value of current Assets
2014 2015 2016 2016
(T)

120 130 150 7200 — Deblors

130 140 200 13600 — Raw Materials

160 220 250 2000 - WIP

175 250 300 0000 — Cash at Bank

110 150 175 3500 = Finished Goods

Or

State the need for Financial Statement Analysis. -
5 Calculate Cash from Operation before tax from the information given

below :

Sales T 80,000
Less.  Cost of goods sold T 30,000
Less. Cash operating expenses ¥ 14,000
Less.  Depreciation ¥ 10,000 |
Profit before tax T 26,000
Balance relating to current ilems are =
Opening Closing
Debtors ¥ 12,000 T 10,000
Inventory T 11,000 T 14,000
Creditors T 9,000 T 7,000
Group - B

3. Zig Lid. was dealing in 12% convertible Debentures of Growth Lid.
Interest on debenture is payable on 31.3 and 30.9 cach year. Zig Lid. furnished
the following details about its transactions :

01.04.15 : Opening balance ¥ 2,50,000 (F.V. T 3,00,000)

01.06.15 : Purchased ¥ 1,20,000 Con. Deb. @ 92% cum-interest.

15.11.15 : Sold ¥ 1,50,000 Con. Deb @ 93.5% cum-interest.

01.01.16 : Purchased ¥ 80,000 Con. Deb. @ 90.5% ex-interest.

31.01.16 Growth Lid. converted T 1,05,000 of Debentures held
into 4,000 Equity Sh.m.». of T 10 each.

Prepare 12% Convertible Debentures in Growth Lid. Account for the
year ended 31.3.16 in the books of Zig Lid.

Apply Weighted Average method. (ignore brokerage and taxation)

Ur

™ Yy d T e . = ) i e TH ST

ir aaswers in their awn waords as far as Jrracii ahile
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year ended 31.3.16 in the books of Zig Lid.
Apply Weighted Average method. (ignore brokerage and taxation) i)

I, Qand R are partners in o firm mh:llmr profits and losses in 5:3:2
after charging interest on capital @ 10% p.a, on 31-03-2016, they decided to
form a limited company Z Lid, 1o pequire the partnership firm. On that date
their capital balances (before distribution of profit for the year just ended
and charging of drawings) were ¥ 60,000, T 40,000 and 2 20.000 respectively,
Diriwings 1||:||||:|!' the vear were @ 1* = 2 10.000: 'U < 8,000 and R T 5.000
During 2015-16, a net profit of T 42,000 was earned by the firm,
Fow _llu' purpose of ocquisition, Goodwill (book value nil) was valued
at ¥ 20,000; Fixed assets were revalued by ¥ 10,000 more and it was decided

Ly prn'.'ldn' T 5,000 for contingent Lability,

You are required 1o -

(a)  Prepare a statement showing purchase consideration. and

(b) Prepare a statement showing distribution of equity and
preference shares (both of ¥ 10 each) in a suitable manner so that their rights

remain the same in all respect as it was in their parinership business S+>
4. The following particulars relate 1o X Lid. as on 31,0316
(a) Pad up share capital :
20000 equity shares of Rs. 10 each [ully paid T 2,00,000
10000 equity shares of Rs. 10 each, Rs. 7 paid up T 70,000
2000, 10% preference shares of Rs. 100 each fully
paid up T 2,00,000
(b) Reserve and surplus :
General Reserves T 90,000
(¢) Trade Payables T 46,000
Besides the above, the following further information are available as
on 31.03.2016 :

(i) Walue of fixed assets to be raised by T 50,000 whercas inventory
value 1o be reduced by ¥ 14,000.

(11) Liability for expenses T 12,000 is yet to be recorded in the books
of accounts.

Caleulate value per equity share and preference share of X 1id. when
preference shares are participating and the ratio of participation in surplus assets
between equity and preference shareholders is 3 : 2 10

Or

From the information given below calculate the value of Goodwill by
Capitalisation of Average Operating Profit :

Capital and liabilities of the company (as per its Balance Sheet as on
31-03-2016) includes the following :

Sharcholders' Fund T 12.50,000
7% Debentures T 4,50,000

Profit after charging 40% income lax for the last three ycars were ;

2013-14 : T 1.56,000 2014-15 : T 1,84,000 and 2015-16 : ¥ 1,76.000

It was found that, in 2013-14 the company purchased a machine at
% 50,000 and charged the same against its profit. The company charges depreciation
@ 20% on WDV of such machinery. Debentures were issued prior to 2013-14,

Similar companies earn after tax operating profit @ 8%. [Consider
simple average profit] 10

5. (a) What do you mean by accounting theory? How is it related with
practice? 744
(b) Write a note on GAAD. i

[ Torn Over ]
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0.
Lid. and Adani Lid. as on 31.03.2017 :

1.4.2016,
Rs. 20,000

(b) Land and Buildings standing in the books of Adani Lid. at

T RS K.00,000 00 1.4.2016 Were revalued st RE 7760000 atibe dute or sequisiion
but it was not passed in the books.

2

Group - C

The following are the statements of assets and liabilities of Ambani

Particulars

Equity and Liabilities :
1. Sharcholders' Funds :
{a) Share Capital
(b) Reserve and Surplus
2. Current Liabilities :
Trade Payables
Total
Assels
1. Non-current Assets :
(a) Fixed Assets-Tangible Assers
(b) Non-current Investments
2. Current Assecis :
(a) Inventonies (Stock)
(b) Trade Receivables
(c) Cash and Cash Equivalents
(Cash at Bank)
Total
Motes o Accounts *

Particulars

Reserve and Surplus :

{a) Reserve

(b) Balance in the statement of profit
and loss

Trade Payables :
{a) Current Ale with Adani Lid.
(b) Sundry Creditors

Fixed Assets-Tangible Assets :
{a) Land and Buildings
(b) Machinery

MNon-current Investments -

(a) Investment in shares of Adani Lid.

(b) Other Investments

Trade Receivables :

(a) Sundry Debiors

(b} Current A/c with Ambani Lid.

Other Particulars -

and Rs. 4,00,000 respectively.

[

(@) Ambani Ltd. acquired 80% shares of Adani Ltd. on l.,'f,lli-ﬁ"n?IlE
the Reserve and Statement of Profit and Loss of Adani Lid. were

Norte No. Ambani Lid.  Adani Lid
(T) (T)
30,000,000 10,00,000
35.,00,000 7.60.000
3,00,000 3,22,000
68,00,000 20.82.000
26,60,000 12,622,000
18,60,000 70,000
6,80,000 4.04.000
12.00,000 3,16,000
4.00,000 30,000
68,00,000 20,82,000

Ambani Lid. Adani Lid.

) )

1900000 40,000
16,00,000 7.20,000
35.00,000 T.ﬁﬂ.ﬂﬂ[l
36,000 —_—
I,ﬁ-il,ﬂﬂﬂ 3.22,000
3,00,000 3,22.000
20.60,000 7,20,000
6,00,000 5.42,000
26,60,000 12,62,000
16,00,000 S
2,60,000 70,000
18,60,000 70,000
12,00,000 2.76,000
— 40,000
12.00,000 3,] E',m .

(c) Adani Lid. declared and paid 20% dividend for the year 2015-16

in July 2016 and Ambani Lid. credited the entire amount of dividend received

an




S
15.60,000 70,000
5 Trade Receivables
(a) Sundry Delors 12,00.000 2 76,000
(b)) Current Afc with Ambani Lid - 40,000
12.00
—=00.000 3,16,000

Oeher Particulars

(n) Ambani Lid. acquired 80% shares of Adani Lid. on 1.7.16. On
1.4.7016. the Reserve and Statement of Profit and Loss of Adani 1 1
Rs. 20,000 and Rs. 400,000 respectively.

i) Land and Buildings standing in the books of Adam Lid, ot

I, were

K< R.00,000 on 1.4.2016 were revalued at Rs. 7.60,000 at the dute ol acquisition,
But i was not ='|_'|'\;\.-_'|J in the books

(c) Adani Lid. declared and paid 20% dividend for the year 2015-16
in July 2016 and Ambani Lid. credited 1the entire amount of dividend received

from Adam Lid. to its statement of Profit and Loss.

Adamt Lid

trom Adani Lid. on which Adani Lid. made a profit of Rs. 30,000,

Afc o Adani Lid

Ambani Lig

(dy Stock of Ambani Lid. includes Bx hH‘[H::lﬂ l|_1_||I|:t|;|1\-. |11I[L'h:=|l\.c‘|:1 rom
le)  Sundry Creditors of Ambani Lid. includes Rs. 1,20,000 purchased
(f} On31.3.2017, Ambani Ltd. remitied o cheque Rs. 4,000 on curment

From the above information prepare o Consolidated Balance Sheet of

ami e and its subsidiary Adani Lid, as on 31.03.2017 15
3u1?iﬁ-nml;:-,cu:£;¢|:';”;” Sheets of ALO Ltd. and KALO Lid, as on 315t March
ALD Lid KALD Lad
I.  Equity and ligbilitics : (r) (1)
1. Sharcholders” Fund
(a} Share Capital :
7% Preference shares of T100 cach  7,00,000 4,500,000
Equity shares of Rs. 100 each 10,00, D00 8.00.,000
(b} Reserve and Surplus :
Gencral Reserve 80,000 70,000
Profit and Loss Account {2, 000 45,000
Investment Allowance Reserve 48,000 27,000
2 Mon-Curmrent Liahilitigs ;
Long-term Borrowings : 8% Debentures 70,000 1,50,000
3. Cument Liabilitigs :
Trode Pavable
(i) Sundry Creditors 84 000 75 D00
(i) Bills Payable ___ 35,000 ___15,000
20,779,000 16,32,000
1.  Assels
1. Non-current Assets
Fixed Assels
(a) Tangible :
Premiscs 700,000 6,50,000
Plant and Machinery 5,00,000 4,80,000
Computer 1.80,000 1,20,000
(b) Intangible :
Goodwill 1,00,000 60,000
2. Cument Assels :
a) Inventorics
{i'k;jj Trade Receivable : SR o
(1) Sundry Debio
(ii) Bills I{ecntE:Lt,:rTIZ 0000 000
S . L 20,000 30,000
(¢) Cash and Cash equivalents 24.000 12.000
20,779,000 1 15.33_;['.‘\'.?0

ALO Lad. takes over KALO Lid. on 1.4.17 on the following terms :
1.  ALO Lul. discharged Purchase Consideration as under :

(a) Issued 10,000 equity sharcs of ¥ 100 each at a premium 6% for
the shareholders of KALO Lid. P

(b) Issued 10% preference shares of ¥ 100 each at par to discharge
the preference sharcholders of KALO Lid. m 10% premium.

and f|
ey
Lo Wi
L'I.HI'IHF
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3 he de re ¢
£, The debentures of KALO Lid. 1o be converted into cquivalent

number of 10% debentures of ALO Lid

Amban
3 Creditors of KALO Lid. include 25,000 being amount due 1o
- ALCD Lad
Adarii Lid 4. Bills payable of KALO Lid. includes 7,000 being amount of
(T bills accepled in favour of ALO Lid., but the Bills Receivable of ALD Lid.

includes 7 ?.I‘H:IH only being the amount of bills due from KALD Lid.
5. 'J"i]r In.\r_'nrnru:a of ALO Lud. includes ¥ 30,000 worth of goods
10.00.000 purchased from KALO Lid., on which KALO Lid. made a profit of 25% on cost.
6. Statutory reserves are 10 be maintained for two years more,

7.6, ODE)
: You are required to
~ (s} Pass Journal Entries in the Books of ALO Lid assuming that
% amalgamation 15 in the nature of purchase
et ez bl {b) Prepare Balance Sheet of ALO Lid. afier merger. 15
O
: The following was the Statement of Assets und Liabilities of KB Lid.
Ir'ﬁ‘?'rﬂ“ ns on 31.03.2017 -
0,000 Particulars Nore No. Amount (T)
I Equity and Liabilitics :
404,000 1. Shareholders” Fund :
3.16.000 {a) Share Capilal | 2,22.000
30,000 (b} Reserve and Surplus 2 (44,600
2, Non-current labilitics
T R T | 0% Debentures 50,000
M 3.  Current Liabilities :
Al L Accrued Debenture Interest 5.000
EHOEN St Frade Payables (Creditors) 30,850
() Shon Term Provisions 8,000
(Provision for taxes)
40,000 2.71,250
Il. Assels: e
M 1. Non-current Asscls :
M Fixed Assets
(1) Tanpible Asscis ] 1,92, 700
{ii) Intangible Assels 25,000
3.22.000 (Goodwill)
3.22,000 2.  Currenl Assels :
(a) Invemtories (Stock) 20,550
7,20,000 (b) Trade Receivables (Debors) 30,000
3.42,000 (e) Cash and Cosh Equivalents (Cash ot Bank)  3.000
2.62.000 2.71.250
Notes to Accounts : ]
= I. Share Capital
T0,000 {n) Authorised
70,000 40,000 equity shares of Bs, 10 each 4,00,000
e (b} Subscribed :
2 76.000 (i} Subscrbed and Fully paid up
40,000 18000 equity shares @ Rs, 10 cach 180,000
e ) (i1) Subscribed but not Fully paid up :
M G000 equity shares
i@ Rs. 10 each 60,000
. On Less @ Calls-in arrear 18,000
e T 42,000
. at 2.22.000
an, = 2. Weserve and Surplus: — e
Balance in statement of Profit & Loss (44,000)
16 Add : Loss for the year ___(600)
3, Fixed Asseis-Tangible Assels ;
om (a) Land and Building 91,000
(k) Plant and Machinery 101,700
sed 1,92.700
et (N.B. Figures in the parcnthesis represent loss)
The directors have had a valuation made of the Plant and Mnrhincpr
of and find it overvalued by Rs. 20,000. It is proposed to write down tht;l,:daiacl tul;‘l;i
15 true value and to extinguish the deficiency in the statement of Profit .uz; i

to write off Goodwill. For this purpose a reconstruction scheme is




4[5.‘_"!}{} Ve .ir:innturmu ana Fully paid up
— i H000 equity shares & Rs, 10 éach 1 80.0¢
3.16,000 (ni) f\:;!;?]t ribed !u}u: not Fully paid up iy
4 l‘lllllr!n' SILITES
16, On i Hx. 10 each 60000
I, were Lesy i Calls-in arrear 1 8,000
e ?-:;i.nnu
wion, 20 Reserve and Surplis
Huls - Wl . . B4 1 ¥ 6,
o e ot Lo et
L B -—-I_!
T 44,00
roim r_”“'] Aasets-Tangible Assets =0
(i) Land and Building
(b} Plamt und Machi; P_- : 91,000
sad ; ery 101,700
- 1.92.700
S 112‘-.: I'.j I-uwtn'ra ;n II::-t|r.|runt1u.-\.n. represent loss) e
2 ne directors have had o valuaii - . 1M
‘ and find it overvalued by Rs, 20.000 ll| ‘|..I|:.::_:;,::?:.lf;-|:!,|..-1::t ]-I;l.ml .ulu_l Machinery
2ok . 3 . e down this asset 1o it
15 I‘::':‘_I‘t]?::-ﬁ}'{!_‘i W;—-"-'}'E'Hi‘llll-*]llllﬂ.‘- deficiency in the statement of Profit und“I ;“LL:“‘E
odwill, For this purpose a rec ; i )
*h company on the following 1crr:|_~. .FH 5C A reconstruction scheme 1s adopted by the
5 [f}' Forfeit the bh:l_ll‘!-; on which the call i outstanding
. (1) Reduce the paid up capital by Rs. 3 per shure
) (iii) Reissue the forfeited shares it Rs. 5 per share, Rx. 7 paic Up
(iv) Use the accrued debenture interest forgone by the e
(v) Uirilise the provizion for insation I nECessary .
Draft the necessary journal entries and the new Balance Sheet of KB
_Q[]I{"H'}{] Lid. alfter implementation of the reconsiruciion scheme IS
F
00,000 = Following are the liabilities and assets of Flow Lid. as on 31-03-2015
and 31-03-2016
70,000 31-3-15 () 31-3-16 (3)
’j?'m I.  Equity and Liability : : :
7,000 l. Sharcholders' Fund :
. (a) Equity Share 10 each fully paid 3,00,000 5.00,000
XLI 9% Preference shares of 10 each :
fully paid 2,00,000 3,00,000
(b} Reserves and Surplus :
W00 Secunties Premium 40,000 90,000
00 Revaluation Reserve (on Land) = #0000
—— General Reserve 1,200,000 180,000
— Profit and Loss balance 2,730,000 3.90,000
2.  Non-current Liabilities
B% Debentures 2,000,000 —
3. Current Liabilitics :
Trade Payable 90,000 70,000
0 Pravision lor lax 60,000 90,000
Eg Total 12,40,000 17,00,000
I1. Assels:
I. Non-current Assels :
00 (a) Fixed Assets : Tangible
Land 5,00,000 5,80.000
- Other Fixed Assets 350000 480,000
(b) Non-current Investment "J{} ‘ ‘[IHI
000 2. Current Assets : el 1,10,
200 Inventory . 20,000 70,000
00 Trade Receivables 1.40,000 3,30,000
o Cash and Cash equivalents 90.000 1,30.000
bt Total 12.40,000 17.00.000

Following further particulars for the year 2015-16 are also given :

(a) Interim Dividend on equity shares T 50,000 and Preference dividend
¥ 18,000 were paid during the year. Dividend distribution tax paid during the year
¥ 10,000.

[ Turn Over ]




.

T = T "'lr-:.‘l‘l‘.ll.'IITI on
% il . .”l'_i L= TLET, F
ibh) Debenturcs went neuace Ilill..i.! al '|

B et X.12,000
redemption charged 10 Profit & l.oss 10f the year. Debenture imic

e ailsn patd during the year ; , 735.000).
SRRy .F't-p Ihe company sold one fixed asscl for T 24,000 (W !_] 'I‘:;jrxlh a1 25%
Fixed nssets of T2,00,000 were acquired by 15sue of 8,000 equatly '\'_ 11-\- shores
premium and balunce by issue of preference shares al par Other equit}
were issued Tor cash during the year al a premium.

(el Interest on Investmeni received T 8,000, Investments having book
value 20 000 were tinken over by a creditor against T 20,000 due o him
(¢) Income tax pad dunng the yedr T LR DO

You are required 1o prepare the Fund Flow Stalement of Flow Lad. for _
the year ended 31-03-2016. 15
o
The following are the summenised Balance Sheets of XY Ltd. as on
31.3.2016 and 31.3.2017 :

I I 3 3. T
Particulars Note No 31.3.16 31 2 17
() (<)
1. Equty and Liabilines
1. Sharcholders’ Fund : = :
{a) Share Capital 23{1333 2’;?3‘3{0
(b} Reserve and Surplus 1 3.04, 3,34,
2. Mon-current Habilities :
Long-term Borrowings 3,60,000 2,80,000
(8% Trebenlures)
3 Current Liabilities .
fa) Trde Payables (Creditors) 412,000 ‘-.h-J-..HHg
(b} Other current liabilities 52,000 48,00
(Oustanding Expenses)
20,48,000 19,64, 000
1. Asscls
| MNon-curmenl Assels
(a) Fixed Asscis-Tangible Assets 2 6,48 000 7.04.000
(b) Neon-curreni Invesiments
{Investments) 4.40.000 296,000
2. Current Assels ol
(a) Inventories (Stock) 3.28,000 4.24.000
(b) Trade Receivables {Debiors) 268,000 ].?E.EHZIU
(¢c) Cash and Cash Equivalent (Cash at Bank) 3,60,000 3,60,000
{d) Other current Assets (Prepaid Expenses) 4,000 8,000
20,48 000 19,64.,000
Notes 1o Accounts 311.3.16 11.3.17
¢ 4
I. Reserve and Surplus
(a) Reserve 2.40,000 2.40,000
(b) Balance in the Statement of
Profit and Loss 64,000 02.000
3.04.000 4,32,000
2. Fixed Assets-Tangible Assets
(a) Land and Building 6. 00.000 6.00.000
(b) Machinery 3,08,000 2,50,000
Less : Depreciation (Accumulated) 1.60.000 1.76.000
48,000 1,004,000
Total (a + b) 6,48,000 7,04.000
Additional Information ¢

fay MY chvidend was pmd duning 2016-17

(b} Machinery for Rs. 1.20 000
. 20, Wil
costing Rs. 48,000 (accumulated depreciation R :"

(c) Rs. 80,000, 8% Debenturcs were redeemed i

% CTL] i 'h b

market at Rs, 96 for a debenture of Rs. 100, af the bcg?nnirfgp::ﬁili:b;r:an:m i
(d) Invesiments worth Rs. 1.44.000 were sold at book value,
(e) Bad debts written off during the year Rs. 20,000, )

Dy 2 glsis rl ol ) L g

puichased and old machinery
24,000) was sold for Rs. 16,000,







